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A. Benefits of filters in engineering system are:
e They remove any unwanted components or features from a signal.

They eliminate background noise.

e They are used in medical electronic systems.

e They are used in signal processing circuits and data conversion.
e They are used in radio tuning to a specific frequency.

B. Designing a Low-Pass Filter with 0.005Q resistor and 0.01F capacitor

A 100V Amplitude was selected with a frequency of 1Hz for the Sine Wave Source.
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C. Determining the Cut-off frequency

The cut-off frequency is calculated by F= %*(pi*R*C)
When R=0.005Q and C= 0.01F

F= 0.5*pi*0.005*0.01=3189.099 Hz

D. Design Output

The transfer function equation for the circuit is given as



(1/RC)/(S + 1/RC)
When R=0.005Q and C= 0.01F

Transfer Fcn=(1/0.005*0.01)/(S + (0.005*0.01))= (20000)/(s+ 20000)
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A. If two signals of 5 KQ and 2 KQ are pass through the filter at different intervals. Discuss
your observation

When the signal of 5 KQ is passed through the filter, the following result is obtained:
The transfer function equation for the circuit is given as

(1/RC)/(S + 1/RC)

When R=5000Q and C= 0.01F

Transfer Fcn=(1/5000*0.01)/(S + (5000*0.01))= (0.02)/(s+ 0.02)
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Observations: The signal is attenuated to 3.869 ohms

When the signal of 2K ohms is passed through the filter the following results are obtained: The
transfer function equation for the circuit is given as

(1/RC)/(S + 1/RC)

When R=2000Q and C= 0.01F



Transfer Fcn=(1/2000*0.01)/(S + (2000*0.01))= (0.05)/(s+ 0.05)
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Observations: The signal is attenuated to 9.266 ohms



